fEXER fZH - £ MBACBE

(600-150) +2=225

(600+150) +2=375 225+150=375 3m75cm
(994-464) +2=265 (994+464) +2=729 R 729
265+464=7249 729-464=265 h 265
oo (24mM—-36%) ~2=1 IKM425
(24mM+36%9) +2=12KMI 8% L BM420+36%=1 2BM| 84 | 2650 1 8%
(77-7) +2=35 (77+7) +2=42 A 27
35+7=42 42-7=35 B 35
62-35=27 42-15=2"7 C 42
40+2=20 -
20+5=15 W25
o= (420-150) +2=135
(420+150) +2=285 135+ 150=285 2m85cm
(1322-336) +2=493 (1322+336) +2=829 K 829
493+336=829 829-336=493 N 4493
so= (24M—- IRM) 09) ~2=| IKA25%
(240M+ KM 04) +2=| 2KM35%9 | VB2 59+ | B | 09 = | 265/ 3 5% | 283 5%
(147-21) +2=63 (147+21) +2=84 A 20
63+21=84 84-21=63 B 63
83-63=20 84-64=20 C 84
32+2=16 %2 0@

| 6+4=20




fEXER fZH - £ MBACBE

ey (310-80) +2=115
(310+80) +2=195 L 15480=195 Im3d5cm
(856—-164) +2=346 (856+164) +2=510 X 510
346+164=510 510-164=346 h 346
P (24M—-2KM20%9) ~2=1 OKM50%
(240M+2/KM204) +2=| 3BM1 04 L OBM5 04+ 2BM 204 = | 361 04 | 3RA 1 0%
(163-27) +2=68 (163+27) +2=95 A 19
68+27=95 95-27=68 B 68
87-68=19 95-76=19 C 95
36+2=138 -
I8+6=24 2 418
(480+190) +2=335 (480-190) +2=335 3m35cm
(1275-355) +2=460 (1275+355) +2=815 X 815
460+355=815 815-355=460 N 460
P (24%M—- IRM409) ~2=| IKAI 0%

(2450 + I KR4 04) +2=| 2BM5049 L ESM | O9+ | B5M4 09 = | 265/ 5 0% | 26M 5 0%
(97-21) +2=38 (97+21) +2=59 A 25
38+21=59 59-21=38 B 38
63-38=25 59-34=25 C 59
50+2=25 3 0fF

25+5=30




fEXER fZH - £ MBACBE

(460-90) +2=185

(460+90) +2=275 185+90=275 2m75cm
(1081—-479) +2=301 (1081+479) +2=780 X 780
301 +479=780 780-479=301 N 301
s (246M— IBM509) +2=1 | KA5%9
(240%M+ | HM5049) +2=| 2BM55% L BE5 S+ | BES5 05— | 2BM5 54 | 25 5%
(132-52) +2=40 (132+52) +2=92 A 18
40+52=92 92-42=40 B 40
58—-40=18 92-74=18 cC 92
40+2=20 -
20+9=29 w29
o (380-130) +2=125
(380+130) +2=255 1254130=255 2m55cm
(1539-179) +2=680 (1539+179) +2=85¢9 X 859
680+179=8549 859-179=680 h 680
P (24 + IRMBY) +2=1 2KM3 4%

(24WM- |BE8D) +2=1 |BEB26% | 2EM3 40— | BMES< | | BM2 64 | 162649
(1'11-25) +2=43 (111+25) +2=68 A 26
43+25=68 68-25=43 B 43
69-43=26 68-42=26 C 68
24+2=12 2 OfF

|12+8=20




faH X ERAR

fmEzH - £ MACB|E

(270-60) +2=105

£ |(270+60) +2=165 L054+60=165 Imé5cm

.| (1857-303) +2=627 (15574303) +2=930 X 930
627+303=930 930-303=627 N 627

L (2 4B6M+28ME) +2= | 3EKM4H

B [(24RM-2RMER) +2=10RM56% | 3WM4S - 2BME A= | ORM5 6% | ORMS 6%
(114-16) +2=49 (114+16) +2=65 A 35
49+16=65 65-16=49 B 49
84-49=35 65-30=35 cC 65
22+2=1 | .
I1+7=18 | 818

i (340-30) +2=155

% |(340+30) +2=185 Loa0sad el Im85cm

A | (987-461) +2=263 (987+461) +2=724 X 124
263+461=724 724-461=263 N 263

L (24WM+449) +2=1 280229

Bl | (24BM-449) +2=1 |KK38% | 2BM2 24— 4 44= | | B3 845 | | &3 8%
(115-41) +2=37 (115+41) +2=78 A 13
37+41=178 78—-41=37 B 37
50-37=13 78-65=13 c 78
38+2=19 -
19+4=23 w23




fIEXER fZzH - £ BMAL®E
a0 (470-60) +2=205

£ |(470+60) +2=265 2054+60=265 2mé65cm

q | (877-475) +2=201 (877+4175) +2=676 X 676
201+475=6176 676-475=20| N o201

P (24m5P+ IGM249) +2=1 28B4 29

B | (24WM- 1 BM244) ~2=1 KM 8% | B4 24— | BE245= | | M1 84 | 1R 8%
(170-14) +2=78 (170+14) +2=92 A 36
78+ 14=92 92-14=178 B 78
1 14-78=36 92-56=36 C 92
34+2=17 -
17+8=25 250

s (370-100) +2=135

£ |(370+100) +2=235 1354100=235 2m35cm

lo| (1270-554) +2=358 (1270+554) +2=912 X 912
358+554=912 912-554=358 4 358

P (24M+3KMI 29) +2=1 3RM3 6%

B | (248M-38MI124) +2=108&M24% | 3ESM3 64— 365 | 24 = | OBSM2 44 | ORI 2 4%
(83-21) +2=31 (83+21) +2=52 A 15
31+21=52 52-21=31 B 31
46-31=15 52-37=15 C 52
42+2=2| -
21+6=217 %2 718




FEXERE fEHE - £ BAL@E
L (530-120) +2=205

% [(530+120) +2=325 2054120=325 3m25cm

Lleri-gn +2=265 (61 1+81) +2=346 X 346
265+81=346 346-81=265 N 265

(2485 — 585 449) ~+2=1 SE¥M
B | (248 +5BM4D) ~2=148H329 569+2=98/H28% | 465E3 2%
G285+ 5MMAn=| AKM3 25
(145-21) +2=62 (145421) +2=83 A 23
62+21=83 83-21=62 B 62
85-62=23 83-60=23 c 83
46+2=23 ;
23-5=8 % | 818
o (360-90) +2=135

£ |1(360+90) +2=225 135+490=225 2m25cm

5| (475-89) +2=193 (475+89) +2=282 x 282
193+89=282 282-89=193 N 193

B | (24mM+28M509) 2= 38M25% fg;g@;;f@;;?%;iféggﬁggﬁ | 36/ 2 5%
(75-9) +2=33 (75+9) +2= 42 A 24
33+49=42 42-9=33 B 33
57-33=24 42-18=24 C 42
26+2=13
13-9=4 o4 18




fMEXERE fEHR - L BACHT
e (280-90) +2=95

% |(280+90) +2=185 45+90=185 Im85cm

13| (937-245) +2=346 (937+245) +2=59 1| X 591
346+245=59 | 591 -245=346 N 346

.5 (2485 — 265028 %) +2=1 OBkAI4 69

B | (248M+2KEM28%) ~2=| 38/ 4% L OBML 64+ 2BM2 84— | 3EM | 44 | 3/ | 4%
(163-25) +2=69 (163+25) +2=94 A 18
69+25=94 94-25=69 B 69
87-69=18 94-76=18 C 94
48+2=24 3
24-6=18 18

e (410-120) +2=145

% [(410+120) +2=265 L 45+120=265 2mé65cm

o] (1228-308) +2=460 (1228+308) +2=768 X 768
460+308=768 768-308=460 N 460

-5 (24050 M3 6%9) ~2=1| I 2%

Bl | (24mM+ IRM364) +2= | 26M4 85 | VB | 29+ | BSMI3 6 9= | 2B5M4 89 | 25M4 89
(95-21) +2=37 (95+21) +2=58 A 26
37+21=58 58-21=37 B 37
63-37=26 58-32=26 C 58
52+2=26 o
26—-7=19 % | 918




faH X ERAR

fmEzH - £ MACB|E

(460-90) +2=185

% ((460+90) +2=275 1 85490=275 2m75cm

15| (296-94) +2=101 (296+94) +2=195 X 195
01 +94=195 195-94=101 o101

.5 (24M-3KM69) ~2=1 ORM27%

B [(24RM+3RM6R) +2=13RM3I3Z | ORM274+3KM6%= | 3RM3 34 | SHM3 3%
(121-45) +2=38 (121+45) +2=83 A 149
38+45=83 83-45=38 B 38
57-38=19 83-64=19 c 83
36+2=18 -
|18-8=10 % | OfE

P (360-110) +2=125

£ (360+110)+2=235 1254110=235 2m35cm

6| (452-116) +2=168 (452+116) +2=284 K 284
l68+116=284 284-116=168 168

.5 (24mM+584%) 2= 2KM29%

Bl | (248M-58%9) +2=1 |KK3 |4 | 2BM2 94— 584= | | B3 | & || &E3 12
(109-25) +2=42 (109+25) +2=6717 A 27
42+25=617 67-25=42 B 42
69-42=217 67-40=27 cC 67
38+2=19 o
l9—-5=14 % | 418




fEXER fZEH- L BIACHZE
o (390-180) +2=105

% [((390+180) +2=285 105+180=285 2m85cm

7| (1580-326) +2=627 (1580+326) +2=953 A 953
627+326=953 953-326=627 S 627

P (2 485+ 21 4g) +2=1 36FM 2%

B [(24RM-28M4H) +2=10RM532 | 3WM2% - 2BM4 8= | ORM5 8% | ORMS 8%
(121-29) +2=46 (121429) +2=75 A 33
46+29=175 75-29=46 B 46
79-46=33 75-42=33 c 75
46+2=23 .
23-4=19 19

to= (450-140) +2=155

% | (450+140) +2=295 Coee laoohas 2m95cm

g| (690-164) +2=263 (690+164) +2=427 A 427
263+164=427 427-164=263 N 263

o (24WM+ | BMA429) 2= 28M5 1 %

Bl | (24mM- WML 249) +2=1 IWMID | 285005 | 9 | B5M4 2= | | B5MI T & LA
(93-23) +2=35 (93+23) +2=58 A 14
35+23=58 58-23=35 B 35
49-35=14 58-44=14 C 58
44+2=22 :
22-8=14 w1 418




fIEXER fZzH - £ BMAL®E
e (530-120) +2=205

% [(530+120) +2=325 2054120=325 3m25cm

jg| (1040-638) +2=20 1| (1040+638) +2=839 X 839
201+638=839 839-201=638 201

P (24p5M+ 306M26%9) +2=| 3KM4L3%

B | (24WM-38M264) ~2=| OKM| 74 | 3EM4 34— 3BM2 64— | OB | 74 | O | 7%
(l41-5) +2=68 (l141+5) +2=73 A 37
68+5=173 73-5=68 B 68
l05-68=37 73-36=37 c 73
50+2=25 -
25-6=19 19

P (430-160) +2=135

% |(430+160) +2=295 1354+160=295 2m95cm

20| (960-244) +2=358 (960+244) +2=602 K 602
358+244=602 602-244=358 4 358

.5 (24mM+349) 2= 2801 7%

Bl | (24®mM-349) +2=1 IRM4 39 | 2B6M | 79—-34%=| |BH4 3D L LA
(63-21) +2=21 (63+21) +2=42 A 16
21+21=42 42-21=21 B 21
37-21=16 42-26=16 cC 42
28+2=14 .
l4—4=10 | O




